Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

6,513+ 1000

1,782 = 1000

3,263 x 1000

1,599 x 1000

5,486 x 1000

6,858 + 1000

0,799 x 1000

4,92 x 1000

8,843+ 1000

5,18+ 1000

5,158 x 1000

4,732 = 1000

1,012 x 1000

6,578 = 1000

6,657 <+ 1000

6,849 x 1000

9,595+ 1000

3,635 +1000

4,455 x 1000

6,734 x 1000
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

6,513 = 1000
0,006513
1,782 = 1000
0,001782

3,263 x 1000
3.263

1,599 x 1000
1.599

5,486 x 1000
5.486
6,858 = 1000
0,006858

0,799 x 1000
799

4,92 x 1000
4.920
8,843 -~ 1000
0,008843
5,18 = 1000
0,00518

5,158 x 1000
5.158
4,732 21000
0,004732
1,012 x 1000
1.012
6,578 -+ 1000
0,006578
6,657 -+ 1000
0,006657
6,849 x 1000
6.849
9,595 - 1000
0,009595
3,635+ 1000
0,003635

4,455 x 1000
4.455

6,734 x 1000
6.734
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